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ipconfig

127.0.0.1

127.0.0.1
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• 

 

 

 

 



*idn?  

 *idn?

 

 

 *ind? 

 



 

 

 

*ESR?

 



 



 



 





 

 

<wsp> 

<value> 

[VALUE1|VALUE2] |

[VALUE1] [VALUE2]

 

• <c>

• <n>

• <m>



 

 

 

 

 



 

 



 

*CLS 

*IDN? 

*OPC? 

*OPT? 

*ESR?

 

*CLS 

*CLS 

 

*CLS 

*ESR? 

*ESR? 

 

7 (MSB) Not used 0 

6 Not used 0 

5 Command Error 32 

4 Execution Error 16 

3 Device dependent Error 8 

2 Not used 0 

1 Not used 0 

0 (LSB) Not used 0 

*ESR? -> 8 

*ESR? -> 32 

*ESR?

*ESR?

• 

• 

• 

 

*IDN? 

*IDN? 

 

<manufacturer>,<server name>,<chassis 

controller name>,<server version>

*IDN? -> Quantifi Photonics, CohesionSCPI service, PXIE-8133, FW2.0.15 



*OPC? 

*OPC? 

 

1 

0 

*OPC? -> 1 

 
*OPT? 

*OPT? 

 

*OPT? -> ,Switch-1002-2-FA-PXIe,Switch-1003-1-FC-PXIe,,VOA-1001-2-FA-

PXIe,,,,O2E-1001-1-FC-PXIe,,,,,,,,, 



 

:SLOT<n> 

 :OPC? 

:OPTions? 

:IDN? 

  

:ROUTe<n> 

:ERROR? 

:CHANnel<m> 

:ERROR? 

:STATE/? 

 

 a

:SLOT<n>:OPC? 

:SLOT<n>:OPC? 

 

1 

0 

:SLOT1:OPC? -> 1 

:SLOT<n>:OPTions? 

:SLOT<n>:OPTions? 

:SLOT3:OPT? -> 1,,, 

 

:SLOT<n>:IDN? 

:SLOT<n>:IDN? 

<manufacturer>, <part number>, 

<serial number>,<hardware version><firmware version>

:SLOT1:IDN? -> Quantifi Photonics,SWITCH-1201-1-SA-PXIE,QP-

180101,HW1.0FW1.02 

 



 

:ROUTe<n>:ERROR? 

:ROUTe<n>:ERROR? 

:ROUT1:ERROR? -> 1 

:ROUTe<n>:CHANnel<m>:ERROR? 

:ROUTe<n>:CHANnel<m>:ERROR? 

:ROUT1:CHAN1:ERROR? -> 0 

:ROUTe<n>:CHANnel<m>:PORTS? 

:ROUTe<n>:CHANnel<m>:PORTS? 

A comma separated string denoting the port layout of the Switch PXIe module as 

<value1>,<value2>, where the port layout of the switch follows as value1 x value2. 

<value1> corresponds to the number of A ports, and <value2> corresponds to the 

number of B ports.
:ROUT3:CHAN1:PORTS? -> 8,8 

:ROUTe<n>:CHANnel<m>:STATE 

:ROUTe<n>:CHANnel<m>:STATE<wsp><value1>,<value2>…<valueN> 

:ROUT1:CHAN1:STATE 2,4,6,8,1,3,0,7 

A1,A2,A3,A4,A5,A6,A7,A8 have been routed to ports 

B2,B4,B6,B8,B1,B3,PARK,B7. 

 



:ROUTe<n>:CHANnel<m>:STATE? 

:ROUTe<n>:CHANnel<m>:STATE?<wsp>[ALL] 

If no parameter is provided, the response is a comma separated string of the SET 
route port for each A port as <SETA1>,<SETA2>,…<SETAN>. 
 
If the ALL parameter is provided, the response is a colon separated string representing 

the SET and ACT route values for each of the N A ports as 

<SETA1>,<ACTA1>:<SETA2>,<ACTA2>:…<SETAN>,<ACTAN>. Each A port’s SET and ACT 

values are separated by a comma (,), and each port is separated by a colon (:).

:ROUT3:CHAN1:STATE? -> 2,4,6,8,1,3,0,7 
:ROUTE3:CHAN1:STATE? ALL -> 2,2:4,4:6,6:8,8:1,1:3,3:0,0:7,7 
Note: In this example the return indicates that port A1 has been set to B2 and is actually at B2, port A2 

has been set to B4 and is actually at B4,…port A8 has been set to B7 and is actually at B7. Port A7 has 

been set to PARK and is actually in PARK. 



 

 

 

:SYSTEM:CHASSIS? 

:SYSTEM:CHASSIS?<wsp>[LIST|MODE] 

LIST

MODE

SINGLE MULTI

None

 1.

:SYSTEM:CHASSIS? -> 1 

:SYSTEM:CHASSIS? LIST -> 0 

:SYSTEM:CHASSIS? MODE -> SINGLE

:SYSTEM:CHASSIS? -> 2 

:SYSTEM:CHASSIS? LIST -> 2,3 

:SYSTEM:CHASSIS? MODE -> MULTI

*OPT?



:CHASSIS<c>

:SLOT2:IDN? 

:CHASSIS1:SLOT2:IDN? 

:SOUR2:CHAN2:POW? MAX 

:CHASSIS1:SOUR2:CHAN2:POW? MAX 

 

:SYSTEM:CHASSIS 

:SYSTEM:CHASSIS<wsp>[SINGLE|MULTI] 

:SYSTEM:CHASSIS SINGLE 



 

*ESR?

 :*IDN?

 :*OPT?

 :SLOT3:IDN?

 :ROUTe3:CHANnel1:PORTS? 

 :ROUTe3:CHANnel1:STATE 

0,0,0,0,8,0,0,0

 :ROUTe3:CHANnel1:STATE 

6,0,0,0,0,0,0,0

 

 :ROUTe3:CHANnel1:STATE? 

 



 

 

 

 



 

 

 



 

# You can get VXI11 from pip: 

# pip install python-vxi11==0.9 

import vxi11 

from vxi11.vxi11 import Vxi11Exception 

# replace this with the IP of your device 

ip = "127.0.0.1" 

try: 

 print("connecting to " + ip + " ... ") 

 instrument = vxi11.Instrument(ip) 

 print("connected") 

 print("checking IDN...") 

 command = "*IDN?" 

 data = instrument.ask(command) 

 print("IDN: " + data) 

 print("checking OPT...") 

 command = "*OPT?" 

 data = instrument.ask(command) 

 print("OPT: " + data) 

# replace this with a valid command for your device (read # the 

programming guide section for examples) 

 command = "" 

 print("writing a specific command") 

 instrument.write(command) 

print("checking ESR") 

command = "*ESR?" 

 data = instrument.ask(command) 

 print("*ESR?: " + data) 

except Vxi11Exception as e: 

 # pass 

 print("ERROR" + str(e) + ", command: " + str(command)) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

% Find a VISA-TCPIP object. This is if the VISA object has already been 

% created with tmtool or has been removed from the workspace without 

% first being closed (cleanly disconnected). 

PXIE_Chassis = instrfind('Type', 'visa-tcpip', ... 

'RsrcName', 'TCPIP0::10.10.10.89::inst0::INSTR', 'Tag', ''); 

% Create the ‘agilent’ VISA-TCPIP object if it does not exist 

% otherwise use the object that was found. 

if isempty(PXIE_Chassis) 

 PXIE_Chassis = visa('agilent', 'TCPIP0::10.10.10.89::inst0::INSTR'); 

else 

 fclose(PXIE_Chassis); 

 PXIE_Chassis = PXIE_Chassis (1); 

end 

% Open the connection to the VISA object. 

fopen(PXIE_Chassis); 

% Query the PXIE_Chassis. 

response = query(PXIE_Chassis, '*IDN?'); 

disp('The *IDN query response:'); 

disp(response); 

response = query(PXIE_Chassis, '*OPT?'); 

disp('The *OPT query response:'); 

disp(response); 

% Replace this with a valid command for your device (read the programming 

% guide section for examples) 

command = '' 

% Close the connection to the object. 
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